?E&iﬁ",:lzﬁ S$=1:250 (1:500)

(R 1K - WEBEIFRITFE)

[&#43]

[E=X wEre Lo
| | |
| I
K21 K22 KZOL ***************************** / ‘
‘ o 0.5 49,56 .07 mey}
‘ [aEanze | o " T |
|
‘ // |
< */EZ*** 50.97- 49.94| S == = == == == = - = == = s Z < _
Ve
C=—=X &=zg&] 7 ‘
//
Ve
//
- | P l
Ve
7
T T ( \\ //
n 2 P RO L3 A S ~ e ®
/"9;{; éﬂmof% ~o e
a g SO . AR
i sHorr oo ~ // — =
et ~ o - i 5 2 % ROO® ®w &
g $ B TH— AN e —o——o— | Bt R
3 2 Sk ~_ e FH=50.70 |5t & &
& < RIE S i 2 PE 11,0
= h SO - o I % = A 118
1 H N e ; — i BK W=900. h=300
L i ~N —
| +| ] ~ Ve — 3 _ =
"H _ e \{ g —— |FEAE $S-10 W=700
|'E -50.01 +| H —C = W —— | %EAE S$S-30  W=900
H 1 - N m ;
2 s I a4 1] e N JERUE (REHEH. S 0T HER) s TEEIC | M 250 x 250
3 + Y - Y
. i s L X 8 X |BEREA W1.0xL1.0xHI1.0
m - ] R — e —1 e AN -
! i LU e e B i N : [] |=zswmps W2.0x12.0xH1.5
+ |
o AGBBING HIVPS SHIN it e RN
L[ EgE - N
A A Eam | e | N BESE TR BHERTIS t=10m
1 Y o Ve S Z
i SN == O HH e ? \ N N XY | 1RE&72771 befisE %Eﬁégiéﬁ*ﬁh t=Tom
< < = FH=51.20 (ERAREHER) e — — — — _— ~ KA I z - RM-40 t=20cm
@ E “I'1 } }‘ m&0 1 l/ FH:50,7P \ N FH=50. 70 BARARIERR HPI0 u u TRER&AZ : RC-40 t=25cm
3 3 AN BHLY | N |1
+ 4 | . [ 4'% - N
i bl A - ol [ERER \ ~ \‘f "‘ BAAAD | RFLE— R |IE9000
A I | EEEEISS =11 = 1 > [l ’
| i ] F‘F‘*ﬁ“ | \ N A o [EE H=3000
[ b | [ | AN NS
3 Iyl +| | ngllze i | \ N I ——= |H#H— K L—JL |L=5000
I 1HETR T R — @rl! [
1| = i = ||ImHvto] il ! | N ‘;
5 ® g Zx | | N i
e gl 2 N L8 —oo= | FAKEE - ERE | ARREBEE. KeBLUESR
- - [=2]
Ei @ . T S FH=51. 30 } Ine R Prysey
3 [ I —
Rl IMI o L L Il - - |BR - BEE BRWERR (K V7 HEHRHE
4 V| B e S e T T T R ERpB0.t 50 A0, AL L Lt e et e e e e D e e e e m e ——— e —————— S B 11
iy [ 2 b , 3_—,@?@_‘ _j 4K
: " i A : S £ i r SEEY XOKBIL 1. 20F. TERRERBEREHRBIE] [ARRSLBHCHEETE O
1 fi == fﬁ 1.0 | _FEP40. 30 KERLAERZS BI50.754 () £HEET S,
— = W )
k" T z L:f?;/;ékz o N "j
e e _Em—T = 5043 ® [ I o o 0 K750 % k29 = —JL— T k23
= — == Ir R THIERR p— = MRS 4+ L — ~ ¢ 6500 g ! 49.77
i W e (%‘ ‘ Mo < B s0.15 TE2-H71 54 (3.6) 7 )L PI7E b 3600 H w l‘} N e-;q_aa
o ————— | . 1
£ g T H=60. 679 OB VS o0
S . ) [
Z’. (I EEB AL EHHR3AO) 1 1% é
8 BU=50. 754. | Shyg!
= # ESnll g
m Sl
bu *ﬁi %
[C=—= n=raE| Iy
m L LT LT ‘\\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\\‘\‘\‘\‘\‘\‘\\‘\‘\‘\‘\‘\‘\\‘\‘\‘\‘\‘\‘\\‘\‘\‘\‘\‘\‘\‘\‘\‘\"\‘\‘\‘\‘\‘\"\‘\‘\‘\‘\‘\"\‘\‘\‘\‘\‘\‘ ““““““‘““““H“"‘““““‘“\‘““H“‘““““"H‘““““"l‘,\,‘"“::"“"“‘\\“"“"““‘\““““““““H‘ -
1T *z =L
T | TTTTI T T TI T T I I T I I T T T I I I I T I I I T I T I I T I I I I T PP I T I I T T I I I I IR W T ITT 11111111 aX
—_— 3 = o o o o o o o o 0 o o o o 0 OG a0 i =
o ; 5 50 Wy o i
% 10098, 1 = 50 o i % %3‘% ~ O ij
A-A’ HEH
K
_ il2-996548 | 200
_DL=50.000 = |
DL=50. 000 50,10 L0 : Fii50.70 : — 5, 70 kA‘ |
o i
| | [
At | \ }
( : \ |\ ER LI (BB, EHChT) HER) |
. ___ FH=43.30 __ ___ _,
B e
oo IEEH Eag: EE & R EEES
it TEE 1:250 (A1)
1:500 (A3)




